ERRERARDS

RRSIRIRT — I \—

ABISH—F

2025578215 (B) 70{k&E4H

L 50573 - 7S5U78E%K3 008 YSR3E ERE R
[AE%] 175 : 450,000 . 25& : 144,000 37 : 81,000  45& : 54,000 57 : 36,000
%5 FRERS /M 1 %2 17EHT 27ERI 3%ERT
IR %35 EA—X 102025/6/26 5% 9 12025/6/14 {5 9 12025/5/31 {£&
e J‘/'T\)b Eehi (56.0) =2 9% ‘9 1400 §1 5 A‘sf‘ 1400 \gﬁ 1015 1300 EVI_E
R] I—Y¥ kv (USA) 0-0-0-4 = s
TV @] TaSTmvE usw 11313 BB _ KIBEB) (PRI At 38— 48
] Zetlora R | G 0| D e
WBERN 1 EDS 118 12,057 - St - PR M- FSATVATA | SEM-  YvI40F
Y 2= wIy g 53 HETE 102025/7/5 {£%3 2025/6/14 {£23 2025/5/31
NF—A=v¥3Y IR (56.0 ) A5 uos 7 A‘sf‘ e 9 A‘sf 1300 EE
R] /—=TIL=w 3 (6B) 0-0-0-0 =
N 2| (8] FuShyT2I= 0-5-1-9 ERER s INWTE 3m—4%
B3] = 7ok voo0 namnmees | af0] seraes | Ty et ar | By s as
AR BR=E= i3 I ~ M- UxyESAT Sthi-  FoATYATA | M- SroA0F
-\7 wik—F U< %13@;& (/Si))ﬁ g%IEf 11]2025/6/15 3R 1 1 9 ‘2Q25/6/2 &R 9 (2025/5/20 iR
Q] FAUNYRA RUF b (USA) G0 o A1 1400 TR M 1500 B 7 1500 &
3 K 5} 59252520 1-0-1-13 Eﬂﬁﬁ—ﬂg YSHR3EA2 AYFY2 SAESHTESTE MENGH (PRIH)
R NS D= (6) 0-0-0-0 RS 1:31.7(4.5) 10-10-10-10 40.6 | 1:39.8(3.0) 10-10-11-10 41.1 | 1:40.5(4.1)  9-9-8-9 42.4
- $AA— (57.0) 495-9 HTFR (57.0) 5046 SRS (57.0) 4986
SiEg— U RLYLYYD S - Yai—-v/—bwT | - I-TWhFY
TU/Ry—Ry— 3 /= FERSF] 4|2025/6/26 158 3 |2025/6/8 {£2S
2] 415 T Eg}ljﬁ!z%!(SA.O) (5 N 1 Al 1400 & 3 Al5 1300 B 5" 1400 #HE
¥ 4| [(B] TOvPAL—Y (@) 2-0-2-3 g;ggg@&g) «/9(1 | 3%5—( , fFvL/E/-‘))yu—;(‘
% ~0-0~ = 1:31.5(0.7, 2-2-1-1 40.7 1:25.6(0.7, 2-2-3-4 39.9 1:34.6(1.0; 6-8-7-6 42.4
£3] New Approach (IRE) o000 i (54.0) 4504 FEE (54.0) 4494 FRE (51.0) 453 0
8 (5472) SIEH:— NPIUFVFTEX | SEH - NAYIFV—-O
2 TS5ws € 3 /BE BA—X 5 12025/7/5 {58 2025/6/9 1i8 2| 2025/5/26
U /7.7 i UV (56.0) (%) 23 ‘ 51400 B 2 ‘ 51300 188 25 ‘ 5 14 "%ﬁ
R] ITAYVT75wvva 0-0-0-9 - 00 78
55| (8 enl75597 0-3-0-0 ;ﬁgz Al I\”‘(y?J;b% po | 2B (sa) 3&—(6@)
3 o, -0—0— / 1:31.5(1.1 4-4-4-4 39. 1:26.1(1.1 3-3-2-2 40.9 1:33.7(0.8 2-2-2-2 40.5
8R] EAUNA—USA 0-0-00 i (6.0) 452-5 il (56.0) 457-3 EPiG (56.0) 460+10
SiEs: - URVRSAT S~ SFSYaUYeL | M- J5TETRU—
: 13 o) ||&@H 7 12025/6/26 £ 10 2025/6/15 112025/5/31
'jij:‘i == HHAGEA (54.0) (2D 10 Al 5 1400 E{ . 5 /\‘9‘ 900 \E{EE 1 1 300 e
] F4—FTUSYF 0-0-0-1 NidiorWN A Al 1300 B
W 6| (8] 5~ 3000 1-0-0-15 ggig io“m(%ElJ) (ShZR3T37) 19(—7)4)4%% 38— (4.1@)
\ N < -0-0— = 1:35.1(6.1 7-7-7-9 42.4 56.0(0.9 5-5 37.4 1:29.9(3.6, 5-4-5-9 44.9
8R] PTRRIFHY 000 HAGEA (54.0) 4434 HIAGEA (54,00 447 0 HIGEA (54.0) 4472
S - JTUuwvIu—o SIE¥:—  N1MoLT SIEM:— YvIA4DF
NAVRXFY—0O 3 BB HEIEE 1]2025/5/10 {58 4|2025/4/25 488
L] 09947 Rl 5(453.0 ) 1x 5 1400 *%E 1 A‘sf‘ 1300 FR 2 A‘sr‘ 1400 HE
717 8] 70oe257v—00RD) 2-1-0-0 THEFHR-A—VTA VIR | FoLYIYU-X 3m-74 SAGAURYYp—Z
B4 20502929 5 — (USA) 0-0-0-0 O . 1:33.6(0.0)  8-7-4-4 41.7 | 1:25.6(0.6)  3-3-2-139.0 | 1:32.4(2.0)  9-8-8-5 39.6
_ Ua—=brrI7—LHASM | RollE (53.00 493-3 EB)IE (53.00 496+3 EBJIE (53.00 493-3
SEMC—  (\WIUFUFE) | SEM-  (SFEYavve) | SEi-  PIATFYATA
/\)L,ai‘y J— %3 /= FERF 312025/7/5 {8 7 12025/6/14 528 2 12025/5/31 {£&
Q] /92U ~(RE) SR el 5 Als 1400 B 2 )\\y 1400 RE 8 Als 1300 B
B 5] FyRU—Fx /i ey g?‘zﬁg 1A3|2l§‘(yzj§;b§ 1-1-1-5 41 MEE( ) 3%—(4*3)
S -0—0— 2N/ -1-1-! .5 1:30.7(0.7 1-1-1-2 39.5 1:27.6(1.3 1-2-2-3 43.0
R] *RFL=T7—2R Lniatat S1REH 56.0) 4623 S1RE (56.0) 465+ SRS (56.0) 464 0
SiE:— URVRSAT - FSATVATA | SEf-  Yvoq0F
IS 0->5Y €Y 3 /& FERF 8 |2025/6/26 5% 6 12025/2/23 58 2025/2/8 58
R 1 LsTi— s (US) Eoog ¥ 80 10 X550 % 23550 % 3i55%0s
8|9 (8] nLTIVH— 1-1-2-13 Eﬁgﬁ xusﬁ?u ()EPB&Eﬁ) 3&—(3%@.) 38— 448
N o= -0-0f =] 1:36.6(6.2 7-7-6-8 45.6 1:33.8(1.1 7-7-5-2 40.5 1:34.2(0.9) 5-3-4-3 40.6
BR] N—WTS54 0-0-0-0 EIlER (56.0) 43946 BhEA (656.0) 43302 EIER (56.0)  431-12
SIER: - TARRN SiE¥:— Yrvowvorvo-b | SE#R - vrOovorvo-b
PS5y )—r9 43 /% s 2025/7/5 €& 2025/6/14 {£& 2025/5/26 £
o o] g 56.0 [05) 8 Al 1400 B 3 )\‘9‘ 1400 RE2 Al 1400 f8E
8110| [m] *nZr—L 1-2-2-10 (@) J PN A 1Sy )b PN 3#%- 51
B2 N=Y754 000 S Bty b ? JII%H!'((SG)O) do | B e e 7
AP E I BRI BT ~ SIEB—  URYRSAT Ei— FSAFVATA | SEH=  JU54FUYR
¥1-- [HEE/ER] [5%F (TE) | HEEE (- B) | [RE—NIEH x2-- [REE [PEl [HBE] [EERS]




ERRRROBERERT —I N—RBISH—F

2025578218 (R) 70{f&4H

@ WX
L—2® L—2@ L—23 L—2®
20256 78 58 2025 6H26H 2025 68148 2025 58318
ES 1FE | &R | 9“14?3| =y B | SR 1571400 | 8 | iz L?‘R [ 51400 | R | 8 | 6R [ 51300 | B |
1A:3(I) .2\“/7])[/% ﬂﬁf’?’” (PRZZFR) 1)\;?0% 13?27?3—4.%3
11 BV /2RI - 9% | 1:34.4 1 56.0 5% | 1:33.4156.0 107 11:28.2 1 56.0
2| RF-RA=Zvyrvay 7% 11:33.0 1 56.0 = 7% | 1:34.1155.0 9% | 1:27.6 | 56.0
3| PyR—+FUI<% - - - _
4/ XU/ Ry—Ro— - - - -
5| URVTISvva EE1:31.5156.0 - - -
6| voF = = - 1175 11:29.9 | 54.0
7\ \AVAFY—0O - — - _
8| NLFVI—T 5% | 1:32.7 | 56.0 = = 1:30.7 1 56.0 87%& 1:27.6 1 56.0
9| I>7J0-5v - 107 11:36.6 | 56.0 - -
10| 75> /-3 87%& | 1:33.1156.0 = 3% [1:32.1156.0 -
@ F591 L
{EE5514000 514000 ZDfth
1 AV /I VmRIL 1:33.2 | & | 2025%5H36 1:26.8 | B2 | 13000 | 2025513238 | {£%
2| vF—=vyvay 1:31.7 | & | 2025458188 1:26.8 | & | 571300 | 20254F 3568 | 2
3| Pwik—FUIT 1:33.7 | B | 202518238 1:31.4 | RE | 20412818 | &R 1:39.0 | B | 515000 | 2024128158 | &R
4| IYU /Ry —Rey— 1:31.5 | & | 2025865268 1:30.7 | B | 20248128218 | % 1:25.6 | B2 | 51300M | 20256F658H | {55
5| Ux>TJ5wvoa 1:31.5 | B | 20257858 1:26.1 | #42E | 5"1300M | 202566598 | 52
6| mo 1:35.1 | & | 2025456268 1:28.2 | B2 | 571300 | 2024585248 | {£%
7\ NAVAXFv—0O 1:32.4 | #E | 202548258 1:25.6 | RE | 5'1300M | 2025658108 | 1528
8| ANILTFVI—T 1:30.7 | R | 202556148 1:25.6 | #4E | $M1300M | 20256558128 | 158
9| ISJO0—->v 1:33.4 | B | 2024128158 1:27.8 | #45 | 513000 | 2025518128 | #5688
100 95>V /—9 1:32.1 | FE | 20254565145 1:22.3 | & | 513000 | 2024511828 | R
0 5% ERE/REIALA
HES i1 4B =il 1 £
L—2¥ BEIAL REIAL
B 32 1:28.0 | 1:33.6 377 1:26.8 | 1:36.4
fHE 6 1:29.8 | 1:32.4 | 137 1:28.1 | 1:37.7
= 7 1:29.0 | 1:34.3 104 1:25.9 | 1:34.8
R 0 89 1:27.8 | 1:36.2




